
BIBKO 2000 GENERAL LAYOUT

THIS DRAWING, ITS DESIGN, DETAIL AND INVENTION, ARE THE
PROPERTY OF DAVE HUMPHREY ENTERPRISES, INC., SUBMITTED
TO THE RECIPIENT IN CONFIDENCE, AND SHALL NOT BE COPIED IN
ANY MANNER NOR DISCLOSED TO ANY OUTSIDE PARTY WITHOUT
THE WRITTEN CONSENT OF THIS COMPANY. THEY SHALL BE USED
EXCLUSIVELY FOR REFERENCE WORK ON CONTRACTS  OR
PROPOSALS SUBMITTED BY DAVE HUMPHREY ENTERPRISES, INC.
AND SHALL BE RETURNED ON REQUEST. ALL RIGHTS RESERVED.

REFERENCES

G
F
E
D
C
B
A

No. REVISION BY CH DATE
DRAWN
CHECKED
APPROVED

DATE

SCALE
JOB
NO.

DWG
NO.

1.855.242.5687 Cedar Falls, Iowa  50613

CUSTOMER:

TITLE:

M/L

BIBKO NORTH AMERICA
CONCRETE PRODUCER

6" : 1'-0"

159 CU. YDS.

TOTAL AGGREGATE STORAGE

100 CU. YDS. HEAPED

BIBKO
FILTER
PRESS

Yard Water Drains to
"Boat Ramp"

Optional Off-Site
Discharge of water.

NOBLE Above Ground Agitated Slurry Tank.
Optional Heat/Chill
1.00 - 1.20 sg

P

Yard Water

Process Yard Water Area

Slump and Washracks

CONCRETE BATCH PLANT

DODGE 2-3/16" (211) SC PB

USE 5/8" BOLTS

ENTRUDA PROHIBIDO DO NOT ENTER

MAQUINARIA EN MOVIMIENTO

DELIGRO

MOVING MACHINERY

DANGER

ENTRUDA PROHIBIDO DO NOT ENTER

MAQUINARIA EN MOVIMIENTO

DELIGRO

MOVING MACHINERY

DANGER

ENTRUDA PROHIBIDO DO NOT ENTER

MAQUINARIA EN MOVIMIENTO

DELIGRO

MOVING MACHINERY

DANGER

P28G312 (30 HP)

RELIANCE

DODGE 3-7/16" (218) SCM PBUSE 7/8" BOLTS

TA
PE

R 
BU

SH
ED

DODGE 2-15/16" (215) SC PB

USE 7/8" BOLTS
P28G311 (25 HP)

RELIANCE

TX
T5

15
B

TO
RQ

UE
 AR

M

DODGE

DODGE 2-3/16" (211) SC PB

USE 5/8" BOLTS

SCXT405A

DODGE

M418-SCD-MOTOR-MOUNT

DODGE

SCXT C4-ADAPTER

DODGE

Clarified Water

Off-Site Discharge
of Sludge

450 GPM Plant Pump
WATER WEIGH BATCHER

Ultra
 Sonic Water

 Monitor

Yard Water
 Pump with Float

Pump to Post FILTER PRESS Tank by others

Pump and Hose
to Plant

 by Others

2" BIBKO FILTER PRESS Feed Pump

Sand/Aggregate Discharge One,
Two, or Three Product Screening

BIBKO
RECLAIMER

NO RAMPS REQUIRED.

pH BALANCE
FORTRANS 5000

SYSTEM

CO2 pH Balance

Density Measurement Pkg

AutoCAD SHX Text
TAPER BUSHED

AutoCAD SHX Text
TXT625

AutoCAD SHX Text
DODGE

AutoCAD SHX Text
TORQUE ARM

AutoCAD SHX Text
FILTER-WLKSON

AutoCAD SHX Text
1/2 FILTER

AutoCAD SHX Text
IN

AutoCAD SHX Text
6

AutoCAD SHX Text
5

AutoCAD SHX Text
4

AutoCAD SHX Text
NAME

AutoCAD SHX Text
CATAGORY

AutoCAD SHX Text
BOLT-COUNT

AutoCAD SHX Text
NAME

AutoCAD SHX Text
CATAGORY

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
BOLT-COUNT

AutoCAD SHX Text
NAME

AutoCAD SHX Text
CATAGORY

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
BOLT-COUNT

AutoCAD SHX Text
NAME

AutoCAD SHX Text
CATAGORY

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
BOLT-COUNT

AutoCAD SHX Text
NAME

AutoCAD SHX Text
CATAGORY

AutoCAD SHX Text
BOLTS

AutoCAD SHX Text
FUJI, 4 1/2 HP, VFC604

AutoCAD SHX Text
FILTER-WLKSON

AutoCAD SHX Text
1/2 FILTER

AutoCAD SHX Text
IN


	Sheets and Views
	Model


